


@© (-2.7)+ (-1.3) @ (+§) + (+é)

@ (+7)+(-1) D(+3)- ()

® (-3.1) - (-%)

B
@ (-2.7) +(-1.3) =—-(27+13)=-4—| -4 =4
@ <+% + (+% = +g = +0.8333--- —[+0.8333| = 0.8333
® (;8)—1—(—;—2) :—;—; = —1.xxX —|—1.xxx|=1.xxx
@+g+§= %4—%:% = 5. X XX —~[5. X X X | = 5. X XX

12
© (-3.1) + (g) = -31+24=-07—-07=07

0.7<0.8333 <1. XXX <4 <5 XXX
olB 2, dYizlo] 7P & A2 @o]tt.




3. 1-34+2-445-74+6-8+9-11-2 AASIA?

o7 @-8 ©®-9 @-0 ©-1

B

1-34+2-44+5-7+6-8+9-11
=(1-3)+12-4)+B-7)+(6-8) +(9-11)
= (D +(D+(-D+ (-2 +(-2)
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GOl O e B 2Tk @ uf, o o Yk 5B
T-oFH? 3
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@1 @3 @5 @41 62
Qb 22 £ 42 x, y, z, w S T 0,
x |—3]| 2
a |y |3
z|lw|—-2

Lx=4
x+y—-2=3,24+y=3
sLy=1
a+y+3=3,a+4=3
SLa=-1

x-34+2=24+3-2=3







@ (=20) = (+10) © (-120) = (-15) = (+4)

© (+40) + (-20) ® (420) + (-5) + (-2)

® (~4)+ (+1) ® (-8)+ (-2) + (-2)
®6,® @ © e ® 0@
@o. e 56,60
S8

O (-20) = (+10) = -2

© (~120) = (=15) = (+4) = 2

© (+40) + (-20) = -2

@ (420) = (=5) + (-2) = 2

® (-4) = (+1) = -4

@ (=8) + (=2) = (-2) = -2

watq 237t 2 AL @), ©, @t ©, @It
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£2 ujelrh
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T2 gotelAl 60009 e
1. @ m& 292 794 30009 A&
o (3) HHo] A =1 1000 AH&
@ 1500 ¢ @ 1700 ¢ ® 1800 Y
@)2000 ® 30009

B ~

(1) GutellA 6000 ¥-& ¥erom g 16000 Y oltt,

(2) B]& ZH|E 7)o 3000 9 AHEstomE —3000 Y o]},
(3) HEo] AF H=d] 1000 9 AHESFAC 2 E ~1000 Y ©]t}.
et @5 AMSSRL e E2

(+6000) + (—=3000) + (~1000)

= (+6000) + {(~3000) + (~1000) }

= (+6000) + (—4000)

= 42000 () o]t}
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(-2)+5=3




11.

A5l =4 b =7d W a-b7tB S AR F A2

® 3 @ 5 ® 7 @9  @n

a=4, -4, b=17, —7°|BER

a-b7H 7V & Gl VY 2 L a7t B4 b 7H 25 A,
Z a=4.b=-7 % 19 gL FopA Ak,
“a-b=4-(-7)=11

a=4, -4, b=7, -7°B24-bERT 7 EHA
4-7=-3,4-(-1)=11,-4-7=-11,-4-(-7) =3
o] Fofl A 7 & 2 11 o]t}




12. v&& Axtsha?

15— [6x{(-3)? +5} + 27]

@-7 @-u O-u @ -9

15— [6x {(-3)2+5} + 23]
=15-[6x {(+9) + 5} + 8]
=15-{6x (+14) + 8}
=15- (84 +38)

=15-92

= -77




®© +1 @)+2 ® +3 @ +4 ® +5

. la| =290|B2 g=+2 F= g = -2 0|t}
a, 19 954 g = -2 o]t}
C.cEq Rt 3iaE & $olB2g
c=-2+3=(-2)+ (+3) = +1 o[tk
2. b=a-1°A
b=-2-1=(-2)-(+1) = (-2) + (-1) = -3 o[},
gt g =-2,b=-3,c=+1°|E2
a-b+c=(-2)-(=3)+ (+1)

=(-2)+ (+3) + (+1)
(=2) + (+4) = +2 °|h.
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15. the % SurEA AR 227 (& 27)
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]'o = T ( 3))( 3 X 5 5 5 5
Ly
2
@-1,0, 1 o|tt,
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BA 7 5 4 9 HAFuj4ol 140 o] B % olct.




